MAOHMATIKA T I'YMNAXIOY

A.1S5AZEIOXHMEIQTEX TAYTOTHTEX
B. KYBOX AGPOIXEMATOX - ATA®OPAX

KA®HI'HTPIA: KAPATEQPT'OY IQANNA

< Tetpayovo abpoicpatog: (a + B)3 = a3 + 3a?p + 3ap? + B3

< Terpayovo dwugopag: (a — B)3 = a® — 3a?p + 3ap? — p3

Aoxknon 1: No vmoAoyiceTe T0 TOPAKAT® OVOTTOYLLOTOL:

a (x+y)3 B. (x+2)3 v. (y+1)3
e (2x+1)3 ot. (2x — 1)3 ¢ (y—4)3
0.(1+ \/5)3 v (V3- \/5)3 w. (x% + 2x)°

Aoxknon 2: Na kdvete Tic TpAEELS:
axdi—(x-13-3x(x—-2)=
B.1-Bx—1)3—-(x—1)Bx—-2) =
¥.—10x2 +2(x+3)3 — (2x — 1) =
5. (x =22 —x(x—2)(x—13)

Aoxknon 3: No anodeilete TIC TOLTOTNTES:

o. (a+p) —(a—p) =2p°
B.2a(2a—1)>—(2a—1)%3-4a?=1-4a

4° TYMNAZIO AITTOY

8. (x — 5)3
n. (x —1)3
B. (VZx — V6)



